
MATHS

BOOKS - NIKITA MATHS (HINGLISH)

THREE DIMENSIONAL GEOMETRY

Multiple Choice Questions

1. All point X-axis have

A. x=0

B. x=0, y=0

C. y=0, z=0

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_ZoiPgVmNSA0H


D. z=0, x=0

Answer: C

Watch Video Solution

2. The pairs of rectangular co-ordinate planes have

equations

A. xy=yz=zx=0

B. x=y=z=0

C. xyz=0

D. 

Answer: A

xy = yz = zx ≠ 0

https://dl.doubtnut.com/l/_ZoiPgVmNSA0H
https://dl.doubtnut.com/l/_TpNs4B4ue0R3


Watch Video Solution

3. The direction cosines of any normal to the xy-plane are

A. 1, 0, 0

B. 0, 1, 0

C. 0, 0, 1

D. 1, 1, 0

Answer: C

Watch Video Solution

4. The direction cosines of any normal to YZ-plane are

https://dl.doubtnut.com/l/_TpNs4B4ue0R3
https://dl.doubtnut.com/l/_BzQ1iJxZwmsX
https://dl.doubtnut.com/l/_igNyvs5nlYD6


A. 1, 0, 0

B. 0, 1, 0

C. 0, 0, 1

D. 1, 1, 0

Answer: A

Watch Video Solution

5. The direction cosines of any normal to ZX-plane are

A. 1, 0, 0

B. 0, 1, 0

C. 0, 0, 1

https://dl.doubtnut.com/l/_igNyvs5nlYD6
https://dl.doubtnut.com/l/_tFpxWrgzTXhH


D. 1, 1, 0

Answer: B

Watch Video Solution

6. If , m, n are the direction consines of a line, then

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

l

l + m + n = 0

l + m + n = 1

l2 + m2 + n2 = 1

l2 + m2 + n2 = 0

https://dl.doubtnut.com/l/_tFpxWrgzTXhH
https://dl.doubtnut.com/l/_fz8phD3SkMZf


7. If  is vector along a line, then p, q, r are

A. direction ratios of the line

B. direction cosines of the line

C. components of the line

D. co-ordinates of a point on the line

Answer: A

Watch Video Solution

pî + qĵ + rk̂

8. The co-ordinate of the point P are (x, y, z) and the

direction cosines of the line OP when O is the origin are l,

m, n. If OP = r, then

https://dl.doubtnut.com/l/_fz8phD3SkMZf
https://dl.doubtnut.com/l/_MUaaSqCa1Np4
https://dl.doubtnut.com/l/_UZ7VvnZjYBCZ


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x = l, y = m, z = n

x = lr, y = mr, z = nr

l = xr, m = yr, n = zr

x = lr2, y = mr2, z = nr2

9. Two lines  are

perpendicular to each other, if their direction ratios satisfy

A. 

B. 

= = , (i = 1, 2)
x − xi

li

y − yi

mi

z − zi

ni

= =
l1

l2

m1

m2

n1

n2

li = mi = ni

https://dl.doubtnut.com/l/_UZ7VvnZjYBCZ
https://dl.doubtnut.com/l/_yBz80fFuEtbu


C. 

D. 

Answer: D

Watch Video Solution

l1l2 + m1m2 + n1n2 = − 1

l1l2 + m1m2 + n1n2 = 0

10. If  are the angles which a line makes with OX,OY

and OZ , then 

A. 0

B. -1

C. 2

D. 1

α, β, γ

sin2 α + sin2 β + sin2 γ

https://dl.doubtnut.com/l/_yBz80fFuEtbu
https://dl.doubtnut.com/l/_lIblLX2u0lTO


Answer: C

Watch Video Solution

11. If a line makes angles  with co-ordinate axes, then

A. 0

B. -1

C. 2

D. 1

Answer: B

Watch Video Solution

α, β, γ

cos 2α + cos 2β + cos 2γ =

https://dl.doubtnut.com/l/_lIblLX2u0lTO
https://dl.doubtnut.com/l/_zG7JNQrEA5KE


12. If a line makes angles  with co-ordinate axes,

then 

A. 0

B. -1

C. 2

D. 1

Answer: B

Watch Video Solution

, ,
α

2

β

2

γ

2

cosα + cos β + cos γ =

13. Two lines with direction cosines

 are at right angle ofl1, m1, n1 and l2, m2, n2

https://dl.doubtnut.com/l/_6TvYSsu0UO4U
https://dl.doubtnut.com/l/_vBZ2tLZ0YPAY


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

l1l2 − m1m2 − n1n2 = 0

l1l2 + m1m2 + n1n2 = 0

l2 = l2, m1 = m2, n1 = n2

= =
l1

l2

m1

m2

n1

n2

14. The straight lines whose direction cosines are given by

,  are

perpendicular if

A. 

B. 

al + bm + cn = 0 fmn + gnl + hlm = 0

+ + = 1
f

a

g

b

h

c

+ + = − 1
f

a

g

b

h

c

https://dl.doubtnut.com/l/_vBZ2tLZ0YPAY
https://dl.doubtnut.com/l/_jU7COSwAOx4o


C. 

D. 

Answer: C

Watch Video Solution

+ + = 0
f

a

g

b

h

c

+ + = 0
a

f

b

g

c

h

15. If the line  makes angles  with the planes 

 respectively , then

 is equal to

A. 4

B. 2

C. 3

D. 1

−−→
OR θ1, θ2, θ3

XOY , YOZ, ZOX

cos2 θ1 + cos2 θ2 + cos2 θ3

https://dl.doubtnut.com/l/_jU7COSwAOx4o
https://dl.doubtnut.com/l/_fyhqWn6cdz4y


Answer: B

Watch Video Solution

16. If the line passing through origin makes angles

 with the planes XOY, YOZ and ZOX, then 

A. 4

B. 2

C. 3

D. 1

Answer: B

Watch Video Solution

θ1, θ2, θ3

sin2 θ1 + sin2 θ2 + sin2 θ3 =

https://dl.doubtnut.com/l/_fyhqWn6cdz4y
https://dl.doubtnut.com/l/_sPLglQBcaVPj


17. If a variable line in two adjacent position has direction

cosines  and  and  is the

angel between two positions, then

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

l, m, n l + δl, m + δm, n + δn δθ

(δl)2 + (δm)2 + (δn)2 =

2(δθ)2

(δθ)2

3(δθ)2

4(δθ)2

https://dl.doubtnut.com/l/_sPLglQBcaVPj
https://dl.doubtnut.com/l/_WxYtLu8Rbv72
https://dl.doubtnut.com/l/_AKpcwTbCopPc


18. A line makes angles and with the diagonals of a

cube, than

A. 

B. 

C. 4

D. 1

Answer: A

Watch Video Solution

α, β, γ δ

cos2 α + cos2 β + cos2 γ + cos2 δ = ?

4
3

2

3

19. Find the angle between any
two diagonals of a cube.

A. cos − 1( )
√2

3

https://dl.doubtnut.com/l/_AKpcwTbCopPc
https://dl.doubtnut.com/l/_lNbPHyxyM8Kg


B. 

C. 

D. 

Answer: D

Watch Video Solution

cos − 1( )
1

√3

cos − 1( )
2

3

cos − 1( )
1

3

20. A line makes an angle  with the four diagonals

of a cube, then 

A. 

B. 

C. 

α, β, γ, δ

sin2 α + sin2 β + sin2 γ + sin2 δ =

4
3

8

3

1

3

https://dl.doubtnut.com/l/_lNbPHyxyM8Kg
https://dl.doubtnut.com/l/_z372516p0sgf


D. 

Answer: B

Watch Video Solution

2

3

21. If the edges of a rectangular parallelepiped are a,b, c,

prove that the angles between the four diagonals are

given by .

A. 

B. 

C. 

D. 

cos − 1 ( )
±a2 ± b2 ± c2

a2 + b2 + c2

cos − 1( )
a ± b ± c

a + b + c

cos − 1( )
1

2

a ± b ± c

a + b + c

cos − 1( )
a2 ± b2 ± c2

a2 + b2 + c2

cos − 1( )
1

2

a2 ± b2 ± c2

a2 + b2 + c2

https://dl.doubtnut.com/l/_z372516p0sgf
https://dl.doubtnut.com/l/_S77NjwpiOyLb


Answer: C

Watch Video Solution

22. If , then the direction angle

of lines are

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

cosα = , cos γ =
√3

2

−1

2

, ,
π

6

π

4

π

3

, ,
5π

6

π

2

2π

3

, ,
π

6

π

2

2π

3

, ,
π

6

π

2

π

3

https://dl.doubtnut.com/l/_S77NjwpiOyLb
https://dl.doubtnut.com/l/_6lyqHhwBKpvh


23. If a line makes angles of measure  and  with the

positive direction of the Y and Z axex respectively, then the

angle made by the line with the positive directions of the

X-axis is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

45∘ 60∘

30∘  or 150∘

30∘  or 120∘

60∘  or 120∘

60∘  or 150∘

https://dl.doubtnut.com/l/_BiQj6TdLfRUD


24. A line makes angles of measures  and  with X-and

Z-axes respectively. Find the angle made by the line with

the Y-axis.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

π

6

π

3

π

2

2π

3

5π

6

3π

4

https://dl.doubtnut.com/l/_rjz9woCvjnYH


25. If a line is inclined at  and  with the X-and Y-axes

respectively, then the angle which makes with the Z-axes is

A. 0

B. 

C. 

D. 

Answer: C

Watch Video Solution

60∘ 30∘

π

4

π

2

π

6

26. If a line makes angles of measure  and  with OX

and OZ, then the angle made by line with Y-axis is

60∘ 45∘

https://dl.doubtnut.com/l/_ZxG5JekSlc1n
https://dl.doubtnut.com/l/_rCrhJ0ujMna5


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

45∘

0∘

30∘

60∘

27. If a line which makes angle  with Y and Z axes, then

the angle which it makes with X-axis is

A. 

B. 

60∘

30∘

45∘

https://dl.doubtnut.com/l/_rCrhJ0ujMna5
https://dl.doubtnut.com/l/_HEnXxCKbb193


C. 

D. 

Answer: B

Watch Video Solution

60∘

90∘

28. A line makes angles  with X, Y, Z axes respectively.

If  and , then 

A. 

B. 

C. 

D. 

α, β, γ

α = β γ = 45∘ α =

0∘

30∘

60∘

90∘

https://dl.doubtnut.com/l/_HEnXxCKbb193
https://dl.doubtnut.com/l/_FgybKHclt0pT


Answer: C

Watch Video Solution

29. A line makes angles  with X, Y, Z axes respectively.

If  and , then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

α, β, γ

α = β γ = 45∘ α + β + γ =

165∘

180∘

135∘

120∘

https://dl.doubtnut.com/l/_FgybKHclt0pT
https://dl.doubtnut.com/l/_RK6usetoqaMg


30. A line makes angles 
with the coordinate axes.

If 
then find 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

α, βandγ

α + β = 900, γ.

0∘

90∘

180∘

300∘

31. If direction angles of a line are  such that 

, then 

α, β, γ

α + β = 90∘ (cosα + cos β + cos γ)2 =

https://dl.doubtnut.com/l/_ncBWtVJhyrxn
https://dl.doubtnut.com/l/_SKxtFYZSwEgT


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1 − cos 2α

1 + cos 2α

1 − sin 2α

1 + sin 2α

32. A line lies in XZ-plane and makes an angle  with Z-

axis, find its inclination with X-axis.

A. 

B. 

60∘

30∘

45∘

https://dl.doubtnut.com/l/_SKxtFYZSwEgT
https://dl.doubtnut.com/l/_Pil2VBP2Dijp


C. 

D. 

Answer: A

Watch Video Solution

60∘

90∘

33. A line lies in YZ- plane and makes angle of  with Y-

axis, then its inclination to Z-axis is

A. 

B. 

C. 

D. 

30∘

30∘ or 60∘

30∘ or 150∘

60∘ or 90∘

60∘ or 120∘

https://dl.doubtnut.com/l/_Pil2VBP2Dijp
https://dl.doubtnut.com/l/_h0WLncBFxgHt


Answer: D

Watch Video Solution

34. If a straight line in space is equally inclined to the co-

rodinate axes, then the cosine of its angle of inclination to

any one of the axes is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

1

2

1

3

1

√2

1

√3

https://dl.doubtnut.com/l/_h0WLncBFxgHt
https://dl.doubtnut.com/l/_fVKQQuDDyw4N


35. Which of the following is false ?

A.  can be the direction angles of a line in

space.

B.  can be the direction angles of a line

in space.

C.  can be the direction angles of a line

in space.

D.  can be the direction angles of a line in

space.

Answer: A

W t h Vid S l ti

30∘ , 45∘ , 60∘

90∘ , 135∘ , 45∘

120∘ , 60∘ , 45∘

60∘ , 45∘ , 60∘

https://dl.doubtnut.com/l/_fVKQQuDDyw4N
https://dl.doubtnut.com/l/_jiqdi9Hz2AE0


Watch Video Solution

36. Which of the following is true ?

A. A line can make angle  with the X-axis, Y-axis

respectively.

B. A line can not make angle  with the X-axis ,

Y-axis respectively.

C. A line can not make angle  with the X-axis ,

Y-axis respectively.

D. A line can not make angle  with the X-axis ,

Y-axis respectively.

Answer: C

30∘ , 45∘

30∘ , 60∘

30∘ , 45∘

45∘ , 60∘

https://dl.doubtnut.com/l/_jiqdi9Hz2AE0
https://dl.doubtnut.com/l/_Jt0yv2FSXRiN


View Text Solution

37. If a line makes angles  with X,Y and Z

axes respectively , then find its direction cosines.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

90∘ , 135∘ , 45∘

0, ,
1

√2

−1

√2

0, ,
−1

√2

−1

√2

0, ,
1

√2

1

√2

0, ,
−1

√2

1

√2

https://dl.doubtnut.com/l/_Jt0yv2FSXRiN
https://dl.doubtnut.com/l/_rSB4zXG6r6fz


38. The direction cosines of the line which bisects the angle

between positive direction of Y and Z axis are

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

0, ,
1

√2

1

√2

0, ,
−1

√2

−1

√2

0, ,
1

√2

−1

√2

0, ,
−1

√2

1

√2

39. The direction consines of a line equally inclined with

the co-ordinate axes are

https://dl.doubtnut.com/l/_dXKXCxlsgP4b
https://dl.doubtnut.com/l/_NOoQoAolLf01


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

±1, ± 1, ± 1

± , ± , ±
1

3√2

1

3√2

1

3√2

± , ± , ±
1

√3

1

√3

1

√3

± , ± , ±
1

√2

1

√2

1

√2

40. Of line makes angle  with X, Y, Z axes

respectively, then the direction consines of a line are

A. 

B. 

60∘ , 120∘ , 45∘

, ,
1

2

−1

2

1

√2

, ,
1

√2

1

2

√3

2

https://dl.doubtnut.com/l/_NOoQoAolLf01
https://dl.doubtnut.com/l/_5c5XKqgT0O9X


C. 

D. 

Answer: A

Watch Video Solution

, ,
1

2

1

√2

−1

√2

, ,
1

√2

1

2

−1

√2

41. If the line makes angles  with X, Y, Z axes

respectively, then the direction consines of line are

A. 

B. 

C. 

D. 

45∘ , 60∘ , 120∘

, ,
1

√2

−1

2

1

2

, ,
1

√2

−1

2

−1

2

, ,
1

√2

1

2

1

2

, ,
1

√2

1

2

−1

2

https://dl.doubtnut.com/l/_5c5XKqgT0O9X
https://dl.doubtnut.com/l/_0AdGxXKu9ZCO


Answer: D

Watch Video Solution

42. The direction cosines of a line which makes an angle of

 with Z-axis and congruent angles with X and Y axes,

are

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

45∘

, ,
−1

2

−1

2

1

√2

, ,
1

2

−1

2

1

√2

± , ± ,
1

2

1

2

1

√2

, ,
1

2

1

2

1

√2

https://dl.doubtnut.com/l/_0AdGxXKu9ZCO
https://dl.doubtnut.com/l/_34kixCJkCcTa


43. The direction consines of a line which lies in XZ-plane

and making an angle of  with positive Z-axis are

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

30∘

± , 0,
1

2

√3

2

± , 0,
1

2

−√3

2

± , 0,
√3

2

1

2

± , 0,
√3

2

−1

2

https://dl.doubtnut.com/l/_34kixCJkCcTa
https://dl.doubtnut.com/l/_7J5Z73yh0eJN


44. If  are the direction angles of a vector and 

, then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

α, β, γ

cosα = , cos β =
14
15

1

3
cos γ =

±
2

15

±
1

5

±
1

15

±
4
15

45. A line makes the some angle  with each of the  and z-

axes. If the angle , which it makes with y-axis, is such that 

θ x

β

https://dl.doubtnut.com/l/_AHnPTydNVvX9
https://dl.doubtnut.com/l/_jb4X6RJAZmV2


 then  equals

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin2 β = 3 sin2 θ cos2 θ

4
5

2

5

3

5

9

5

46. If the direction cosines of a line are , then

p =

A. 

p, − p,
−p

2

±
4
9

https://dl.doubtnut.com/l/_jb4X6RJAZmV2
https://dl.doubtnut.com/l/_IAwzLR1NOC9l


B. 

C. 

D. 

Answer: C

Watch Video Solution

±
9

4

±
2

3

±
3

2

47. If  are direction cosines of a line, then the value

of  is

A. 

B. 

C. 

, , n
1

2

1

3

n

7
36

7
6

√23

36

https://dl.doubtnut.com/l/_IAwzLR1NOC9l
https://dl.doubtnut.com/l/_rMO8cSNEdnUA


D. 

Answer: D

Watch Video Solution

√23

6

48. If , n are the direction consines of a line, then n

=

A. 

B. 

C. 

D. 

Answer: C

,
1

√2

1

2

−1
2

1
2

±
1
2

±
1

√2

https://dl.doubtnut.com/l/_rMO8cSNEdnUA
https://dl.doubtnut.com/l/_O78HeoUQQZyC


Watch Video Solution

49. Line with direction ratios 1, 1, 1 is

A. parallel to X-axis

B. parallel to Y-axis

C. parallel to Z-axis

D. equally inclined with co-ordinate axes

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_O78HeoUQQZyC
https://dl.doubtnut.com/l/_gWzvD1zoMPPs


50. If A(3, 5, -4), B(-1, 1, 2) and C(-5, -5, -2) are the vertices of

 ABC, then the direction cosines of side AB are

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Δ

, ,
2

√17

2

√17

−3

√17

, ,
2

√17

3

√17

2

√17

, ,
4

√42

5

√42

−1

√42

, ,
−4

√17

−5

√17

1

√17

51. If A(3, 5, -4), B(-1, 1, 2) and C(-5, -5, -2) are the vertices of

 ABC, then the direction cosines of side BC areΔ

https://dl.doubtnut.com/l/_Txok332kCNxy
https://dl.doubtnut.com/l/_a0RQRtMlT8fK


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

, ,
2

√17

2

√17

−3

√17

, ,
2

√17

3

√17

2

√17

, ,
4

√42

5

√42

−1

√42

, ,
−4

√17

−5

√17

1

√17

52. If A(3, 5, -4), B(-1, 1, 2) and C(-5, -5, -2) are the vertices of

 ABC, then the direction cosines of side AC are

A. 

B. 

Δ

, ,
2

√17

2

√17

−3

√17

, ,
2

√17

3

√17

2

√17

https://dl.doubtnut.com/l/_a0RQRtMlT8fK
https://dl.doubtnut.com/l/_j1NMh1kDXmzN


C. 

D. 

Answer: C

Watch Video Solution

, ,
4

√42

5

√42

−1

√42

, ,
−4

√17

−5

√17

1

√17

53. If A(3, 5, -4), B(-1, 1, 2) and C(-5, -5, -2) are the vertices of

 ABC, then the triangle is

A. scalane

B. right angled

C. equilateral

D. isosceles

Δ

https://dl.doubtnut.com/l/_j1NMh1kDXmzN
https://dl.doubtnut.com/l/_ni9PYP6ZREUH


Answer: D

Watch Video Solution

54. Which of the following is true ?

A.  are the direction consines of a

directed line.

B.  are the direction consines of a

directed line.

C.  are not the direction consines of a

directed line.

D.  are not the direction consines of a

directed line.

, ,
2

√3

−2

√3

−1

√3

, ,
−2

√3

−2

√3

−1

√3

, ,
2

√3

−2

√3

−1

√3

, ,
1

√3

−1

√3

−1

√3

https://dl.doubtnut.com/l/_ni9PYP6ZREUH
https://dl.doubtnut.com/l/_6yYpjCigANXS


Answer: C

Watch Video Solution

55. Which of the following represents direction consines of

the line ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

0, ,
1

√2

1

2

0, ,
−√3

2

1

√2

0, ,
√3

2

1

2

, ,
1

2

1

2

1

2

https://dl.doubtnut.com/l/_6yYpjCigANXS
https://dl.doubtnut.com/l/_FKCEYKyPQ090


56. Which of the triplet can not represent direction cosines

of a line ?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

( , , )
2

5

3

5
4
5

( , , )
1

√3

1

√3

1

√3

( , , )
3

√50

3

√50

3

√50

( , , )
4

√77

4

√77

4

√77

57. If , then the direction cosines of 

are

P ≡ (3, 4, − 12) ¯̄̄ ¯̄¯OP

https://dl.doubtnut.com/l/_weYx0fUOJNy0
https://dl.doubtnut.com/l/_LmtiGjlCnjhm


A. 6, 6, -3

B. 

C. 

D. 

Answer: D

Watch Video Solution

, ,
1

5

6

5
7
5

, ,
−2

7

3

7

6

7

, ,
3

13
4
13

−12

13

58. The direction cosine of vector  in the

direction of X-axis is

A. 

B. 

3 î + 4ĵ + 5k̂

1

√2

4

5√2

https://dl.doubtnut.com/l/_LmtiGjlCnjhm
https://dl.doubtnut.com/l/_VGv0V2OumF0p


C. 

D. 

Answer: C

Watch Video Solution

3

5√2

3

√2

59. If the vector  makes angles  with

the co-ordiante axes respectively, then the direction cosine

of vector are

A. 

B. 

C. 

D. 

2 î − 3ĵ + 7k̂ α, β, γ

, ,
−2

√62

3

√62

−7

√62

, ,
2

√62

−3

√62

7

√62

, ,
−2

√31

3

√31

−7

√31

, ,
2

√31

−3

√31

7

√31

https://dl.doubtnut.com/l/_VGv0V2OumF0p
https://dl.doubtnut.com/l/_hM0ZLV8giTHN


Answer: B

Watch Video Solution

60. The position vectors of points A and B are 

and  respectively, then the direction cosine of

 along Y-axis is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

î + 3ĵ − 7k̂

5 î − 2ĵ + 4k̂

¯̄̄ ¯̄¯AB

−5

√162

4

√162

11

√162

5

√162

https://dl.doubtnut.com/l/_hM0ZLV8giTHN
https://dl.doubtnut.com/l/_5f1yBESU7hRL


61. The direction cosines of a line parallel to the line

 are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

= =
x + 1

2

y

−3

z − 5

6

1, , 3
−3

2

, 1, − 2
−2

3

, , 1
1

3

−1

2

, ,
2

7

−3

7

6

7

https://dl.doubtnut.com/l/_5f1yBESU7hRL
https://dl.doubtnut.com/l/_XOrPUoSUF9IK


62. The line joining the points
 
 is

parallel to the line
 whose direction ratios are 

Find the values of 

A. a=0, b=5, c=-5

B. a=4, b=3, c=-5

C. 

D. `a=1, b=2, c=-6

Answer: B

Watch Video Solution

−2, 1, − 8)and(a, b, c)

6, 2, and3.

a, band ⋅

a = 3, b = 5, c = 11

https://dl.doubtnut.com/l/_zeIraYbvG0ZX


63. If the line segment joining the points A(7, p, 2) and B(q,

-2, 5) be parallel to the line segment joining the points C(2,

-3, 5) and D(-6, -15,11), find the value of p and q.

A. a=4, b = -3

B. a=-4, b=3

C. a=4, b=3

D. a=-4, b=3

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_a2l0wEh18SOv


64. The line joining the points (4, 1, 2) and (5, p, 0) is

parallel to the lne joining the points (2, 1, 1) and (3, 3, -1),

then p =

A. -1

B. 1

C. -3

D. 3

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_wInCaYIGLVPr


65. If A(-1, 2, -3), B(5, 0, -6) and C(0, 4, -1) are the vertices of

triangle ABC, then the direction ratios of the internal

bisector of  are

A. (5, 6, 7)

B. (4, -3, 9)

C. (25, 8, 5)

D. (5, 8, 25)

Answer: C

View Text Solution

∠BAC

https://dl.doubtnut.com/l/_WPvMvhbXrvcN


66. A line passes through the points (3, 1, 2) and (5, -1, 1) .

Then the direction ratios of the line are

A. 2, -2, -1

B. 2, 2, -1

C. 2, 2, 1

D. 

Answer: A

Watch Video Solution

−2, − 2, 1

67. A line passes through the point  and 

, find the direction cosines of the line.

(3, 1, 2)

(5, − 1, 1)

https://dl.doubtnut.com/l/_GxnrmgcqGTJ4
https://dl.doubtnut.com/l/_vneIzrz2hqHr


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

± , ± , ±
2

9

−2

9

−1

9

± , ± , ±
2

9

2

9

−1

9

± , ± , ±
2

3

−2

3

−1

3

± , ± , ±
2

3

2

3

−1

3

68. Direction cosines of the line passing through the points

 are

A. 

B. 

A( − 4, 2, 3) and B(1, 3, − 2)

−5, 1, − 5

5, 1, − 5

https://dl.doubtnut.com/l/_vneIzrz2hqHr
https://dl.doubtnut.com/l/_KyJfMCSGs7cx


C. 

D. 

Answer: B

Watch Video Solution

5, − 1, 5

5, 1, 5

69. Direction cosines of the line passing through the points

 are

A. 

B. 

C. 

D. 

A( − 4, 2, 3) and B(1, 3, − 2)

± , ± , ±
1

√51

5

√51

1

√51

± , ± , ±
5

√51

1

√51

−5

√51

±5, ± 1, ± 5

±√51, ± √51, ± √51

https://dl.doubtnut.com/l/_KyJfMCSGs7cx
https://dl.doubtnut.com/l/_3eYe9SiRBcMa


Answer: B

Watch Video Solution

70. If a line has the direction ratios 4, -12, 18, then its

direction cosines are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

, ,
2

11

6

11

−9

11

, ,
2

11

−3

11

9

11

, ,
2

22

−6

22

9

22

, ,
2

11

−6

11

9

11

https://dl.doubtnut.com/l/_3eYe9SiRBcMa
https://dl.doubtnut.com/l/_FFRzG1Q31Opg


71. If a line has the direction ratios -1, 2, 3, then its direction

cosines are

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

, ,
−1

√14

2

√14

3

√14

, ,
1

√14

−2

√14

3

√14

, ,
1

√14

2

√14

−3

√14

, ,
1

√14

2

√14

3

√14

72. The direction cosines of a line whose direction ratios

are 1, -2, 3 are

https://dl.doubtnut.com/l/_Sz15BT7ftgnc
https://dl.doubtnut.com/l/_9QiCmiHjEMf7


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

, ,
1

2√14

−1

√14

3

√14

, ,
1

√14

−2

√14

3

√14

, − 1,
1

2

3

2

, , 1
1

3

−2

3

73. If  and  is equally inclined to the co-ordinate

axes, then 

A. 

B. 

|r̄| = 9 r̄

r̄ =

±3( î + ĵ + k̂)

±9( î + ĵ + k̂)

https://dl.doubtnut.com/l/_9QiCmiHjEMf7
https://dl.doubtnut.com/l/_MvLD3Qc6xYTf


C. 

D. 

Answer: D

Watch Video Solution

±√3( î + ĵ + k̂)

±3√3( î + ĵ + k̂)

74. If  and  is equally inclined to the unit vectors 

, then 

A. 

B. 

C. 

D. 

|ū| = 3 ū

î, ĵ, k̂ ū =

±3( î + ĵ + k̂)

±√3( î + ĵ + k̂)

± ( î + ĵ + k̂)
1

3

± ( î + ĵ + k̂)
1

√3

https://dl.doubtnut.com/l/_MvLD3Qc6xYTf
https://dl.doubtnut.com/l/_9kD4U8HG2ARE


Answer: B

Watch Video Solution

75. If OP=8 and OP makes angles  with OX-axis

and OY-axis respectively, then OP is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

45∘ and 60∘

12(√2i + ĵ ± k̂)

6(√2 î + ĵ ± k̂)

3(√2 î + ĵ ± k̂)

2(√2i + ĵ ± k̂)

https://dl.doubtnut.com/l/_9kD4U8HG2ARE
https://dl.doubtnut.com/l/_gYvXGpOp0Cpd


76. If vector r wiith dc's l,m,n is equally inclined to the

coordinate axes, then the total number of such vectors is

A. 4

B. 6

C. 8

D. 2

Answer: C

Watch Video Solution

77. The number of lines which are equally inclined to the

axes is :

https://dl.doubtnut.com/l/_3DZv0GvMa85C
https://dl.doubtnut.com/l/_VN92nH83hH1g


A. 4

B. 2

C. 8

D. 6

Answer: A

Watch Video Solution

78. The direction ratios of AB are -2,2,1. If  and

l(AB) = 6 units, find coordinates of B.

A. (8, 5, 7) or (0, -3, 3)

B. (0, 5, 7) or (8, -3, 3)

A ≡ (4, 1, 5)

https://dl.doubtnut.com/l/_VN92nH83hH1g
https://dl.doubtnut.com/l/_yzDrLjdRIdGt


C. (0, 5, 7) or (8, 3, -3)

D. (8, 5, 7) or (0, 3, -3)

Answer: B

Watch Video Solution

79. If the direction cosines of  are 

such that  and , then the

co-ordinates of point B are

A. (1, 3, -8) or (5, -9, 12)

B. (1, -3, 8) or (5, -9, 12)

C. (1, -3, 8) or (5, 9, -12)

D. (1, 3, -8) or (5, 9, -12)

¯̄̄ ¯̄¯AB , ,
−2

√17

3

√17

−2

√17

A ≡ (3, − 6, 10) l(AB) = √17

https://dl.doubtnut.com/l/_yzDrLjdRIdGt
https://dl.doubtnut.com/l/_Wnph8LqAtOzy


Answer: B

View Text Solution

80. If OP = 21 and direction cosines of  are ,

then the co-ordinates of P are

A. (6, 18, -9)

B. (-6, -12, 9)

C. (-6, 18, -9)

D. (6, 18, 9)

Answer: A

View Text Solution

¯̄̄ ¯̄¯OP , ,
2

7

6

7

−3

7

https://dl.doubtnut.com/l/_Wnph8LqAtOzy
https://dl.doubtnut.com/l/_J96fwJuBDxmO


81. The ratio in which the line joining points (2, 4, 5) and (3,

5, -4) divide YZ-plane is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

−2: 3

2: 3

−3: 2

3: 2

82. XY-plane divides the line joining the points (2, 4, 5) 

and (-4, 3, -2) in the ratio

https://dl.doubtnut.com/l/_zN95E7sYBEfZ
https://dl.doubtnut.com/l/_YgyDX4oLQ4dR


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3: 5

5: 2

5: 3

2: 5

83. The plane XOZ divides the join of

in the ratio of , then  is

A. 3

B. -3

(1, − 1, 5) and (2, 3, 4) λ : 1 λ

https://dl.doubtnut.com/l/_YgyDX4oLQ4dR
https://dl.doubtnut.com/l/_p1Bra7XWdRTX


C. 

D. 

Answer: C

Watch Video Solution

1

3

−1

3

84. उस बिं दु  के  निर्देशांक ज्ञात कीजिए जहाँ बिं दु ओं   और

 को मिलाने वाली रेखा XY-तल को काटती है |

A. 

B. 

C. 

D. 

A(3, 4, 1)

B(5, 1, 6)

( , , 0)
−13

5

−23

5

( , , 0)
−13

5

23

5

( , , 0)
13

5

−23

5

( , , 0)
13

5

23

5

https://dl.doubtnut.com/l/_p1Bra7XWdRTX
https://dl.doubtnut.com/l/_51EAsG5CYbTu


Answer: D

Watch Video Solution

85. The co-ordinate of the point in which the line joining

the points (3, 5, -7) and (-2, 1, 8) is inscribed by YZ-plane are

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(0, , − 2)
13

5

(0, , 2)
13

5

(0, , 2)
−13

5

(0, , − 2)
−13

5

https://dl.doubtnut.com/l/_51EAsG5CYbTu
https://dl.doubtnut.com/l/_swYbRTGh895A


86. The point which divides the line joining the points (2, 4,

5) and (3, 5, -4) in the ratio - , lies on

A. XOY plane

B. YOZ plane

C. ZOX plane

D. XYZ plane

Answer: B

Watch Video Solution

2: 3

87. The distance of point (1, 2, 3) from X-axis is

A. √14

https://dl.doubtnut.com/l/_Aqlgj6Wipf1F
https://dl.doubtnut.com/l/_TdJFRpbE540m


B. 

C. 

D. 

Answer: B

Watch Video Solution

√13

√10

√5

88. Perpendicular distance of point (3, 4, 5) from Y-axis is

A. 4

B. 5

C. 

D. 

√34

√41

https://dl.doubtnut.com/l/_TdJFRpbE540m
https://dl.doubtnut.com/l/_b88pEGBWYQgF


Answer: C

Watch Video Solution

89. The points (2, -1, -1), (4, -3, 0) and (0, 1, -2) are

A. collinear

B. non-coplanar

C. non-collinear

D. non-collinear and non-coplanar

Answer: A

View Text Solution

https://dl.doubtnut.com/l/_b88pEGBWYQgF
https://dl.doubtnut.com/l/_cOr9BrD6ZkH8
https://dl.doubtnut.com/l/_aIY1EURlKdWK


90. The points (-7, 4, -2), (-2, 1, 0) and (3, -2, 2) are

A. non-collinear

B. non-coplanar

C. non-collinear and non-coplanar

D. collinear

Answer: D

View Text Solution

91. If the points  and (5, 2, 4) are

collinear then 

A. 4

(6, − 1, 2), (8, − 7, λ)

λ =

https://dl.doubtnut.com/l/_aIY1EURlKdWK
https://dl.doubtnut.com/l/_xU5j4gr9gTPS


B. 2

C. -2

D. -4

Answer: C

Watch Video Solution

92. If the points (5, 2, 4), (6, -1, 2) and (8, -7, k) are collinear,

then k =

A. -2

B. 2

C. -10

https://dl.doubtnut.com/l/_xU5j4gr9gTPS
https://dl.doubtnut.com/l/_exmQKzSRM2X1


D. 10

Answer: A

Watch Video Solution

93. If the points

 are

collinear, then the values of  and  are

A. 

B. 

C. 

D. 

A( − 1, 3, λ), B( − 2, 0, 1) and C( − 4, μ, − 3)

λ μ

λ = 3, μ = − 6

λ = − 3, μ = 6

λ = − 6, μ = 3

λ = 6, μ = − 3

https://dl.doubtnut.com/l/_exmQKzSRM2X1
https://dl.doubtnut.com/l/_poZdvDQ6d5tK


Answer: A

Watch Video Solution

94. 
 is a triangle and 


 If the

median through 
is equally inclined to the
axes, then find

the value of 

A. 10, 7

B. 9, 10

C. 7, 9

D. 7, 10

Answer: D

ABC

A = (235)
.
B = ( − 1, 3, 2)andC = (λ, 5, μ).

A

λandμ.

https://dl.doubtnut.com/l/_poZdvDQ6d5tK
https://dl.doubtnut.com/l/_jUiiTCn94IvT


Watch Video Solution

95. 
 is a triangle and 


 If the

median through 
is equally inclined to the
axes, then find

the value of 

A. (-7, 5, 14)

B. (7, 5, -14)

C. (-7, 5, -14)

D. (7, 5, 14)

Answer: D

Watch Video Solution

ABC

A = (235)
.
B = ( − 1, 3, 2)andC = (λ, 5, μ).

A

λandμ.

https://dl.doubtnut.com/l/_jUiiTCn94IvT
https://dl.doubtnut.com/l/_8PP1mso9NaJM


96. If a line drawn from point (1, 2, 1) is perpendicular to the

line joining points (1, 4, 6) and (5, 4, 4), then the foot of the

perpendicular is

A. (2, 4, 5)

B. (3, 4, 1)

C. (3, 4, 5)

D. (3, 0, 5)

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_3xnTfvtlzuk9


97. If a line drawn from point (2, 4, 3) is perpendicular to

the line joining points (1, 2, 4) and (3, 4, 5) then the foot of

the perpendicular is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

( , , )
11

9

28

9
41
9

( , , )
19

9

28

9
41
9

( , , )
19

9

11

9
41
9

( , , 1)
19

9

28

9

https://dl.doubtnut.com/l/_G31xav62N6PJ


98. If a line drawn from point (4, 3, 2) is perpendicular to

the line joining points (2, 4, 1) and (4, 5, 3), then the foot of

the perpendicular is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

( , 1, )
28

9

19

9

( , , )
28

9
41
9

11

9

( , , )
4
3

41
9

19

9

( , , )
28

9
41
9

19

9

https://dl.doubtnut.com/l/_w5zilaXhOGX2


99. If A(1, 2, 3), B(4, 5, 6) are two points, then the foot of the

perpendicular from point B to the line joining the origin

and point A is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

( , , )
8

7

16

7
24
7

( , , )
16

7

32

7
48
7

( , , )
1

7

2

7

3

7

( , , )
4
7

8

7

12

7

https://dl.doubtnut.com/l/_FYbFBef0Zzs7


100. If the line with direction ratios 2, -1, 2 is perpendicular

to the line with direction ratios 1, k, -3, then k =

A. -4

B. 4

C. -8

D. 8

Answer: A

Watch Video Solution

101. If the line with direction ratios 5, 3k, 7 is perpendicular

to the line with direction ratios k, 1, -8, then k =

https://dl.doubtnut.com/l/_plhESn44Ky0m
https://dl.doubtnut.com/l/_l0EnOzxHGObL


A. 7

B. 8

C. 14

D. 16

Answer: A

Watch Video Solution

102. If the line with direction ratios k, -4, -1 is perpendicular

to the line with direction ratios k, 5, -4 then k =

A. 

B. 

±16

±2

https://dl.doubtnut.com/l/_l0EnOzxHGObL
https://dl.doubtnut.com/l/_iMVnJgkRSYbF


C. 

D. 

Answer: C

Watch Video Solution

±4

±1

103. If a line passing through (4, 1, 2) and (5, k, 0) is

perpendicular to the line passing through (2, 1, 1) and (3, 3,

-1), then k =

A. 

B. 

C. 

D. 

1

2

−1

2

3

2

−3

2

https://dl.doubtnut.com/l/_iMVnJgkRSYbF
https://dl.doubtnut.com/l/_cwehsEulkrfu


Answer: D

Watch Video Solution

104. Find the measure of a acute angle between the line

direction ratios are 5, 12, -13 and 3, -4, 5.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

cos − 1( )
7
65

cos − 1( )
−7
65

cos − 1( )
49
65

cos − 1( )
−49
65

https://dl.doubtnut.com/l/_cwehsEulkrfu
https://dl.doubtnut.com/l/_lzm9YfL0Y95Z


105. Find the angles between the line whose direction

ratios are .

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

4, − 3, 5 and 3, 4, 5

30∘

45∘

60∘

90∘

106. The acute angle between the lines whose direction

ratios are 3, 2, 6 and -2, 1, 2 is

https://dl.doubtnut.com/l/_xbBasUMOQHwL
https://dl.doubtnut.com/l/_krgSJ6MD3now


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

cos − 1( )
8

21

cos − 1( )
12

21

cos − 1( )
2

21

cos − 1( )
2

3

107. The acute angle between the lines whose direction

ratios are 1, 2, 2 and -3, 6, -2 is

A. 

B. 

cos − 1( )
13

21

cos − 1( )
5

21

https://dl.doubtnut.com/l/_krgSJ6MD3now
https://dl.doubtnut.com/l/_qzSUJ60WUj4T


C. 

D. 

Answer: B

Watch Video Solution

cos − 1( )
11

21

cos − 1( )
5

9

108. The acute angle between the lines whose direction

ratios are 1, 1, 2 and  is

A. 

B. 

C. 

D. 

√3 − 1, − √3 − 1, 4

45∘

30∘

90∘

60∘

https://dl.doubtnut.com/l/_qzSUJ60WUj4T
https://dl.doubtnut.com/l/_T2sNR2FsgJkQ


Answer: D

Watch Video Solution

109. An angle between the lines whose direction number

are 1, -2, 1 and -6, -1, 4 is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

π

6

π

4

π

3

π

2

https://dl.doubtnut.com/l/_T2sNR2FsgJkQ
https://dl.doubtnut.com/l/_tL5o1NSxMYxs


110. If the angle between the lines with direction ratios a, 3,

5 and 2, -1, 2 is , then a =

A. 2, 26

B. 4, 52

C. 2, 104

D. 8, 26

Answer: B

Watch Video Solution

45∘

111. If the angle between the vectors  and  having

direction ratios 1, 2, 1 and 1, 3k, 1 is , then k =

ā b̄

π

4

https://dl.doubtnut.com/l/_tNxJ1LPWItN2
https://dl.doubtnut.com/l/_d9oyjunB5akG


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2 ± 3√2

3

−2 ± 3√2

3

4 ± 3√2

3

−4 ± 3√2

3

112. If the angle between the lines with direction ratios 2, -1,

1 and 1, k, 2 is , then k =

A. 1, 17

B. 

60∘

−1, 17

https://dl.doubtnut.com/l/_d9oyjunB5akG
https://dl.doubtnut.com/l/_wWZn72zwqB96


C. 

D. 

Answer: C

Watch Video Solution

1, − 17

−1, − 17

113. The two values of k for which the lines with direction

ratios  and  are perpendicular to

each other are

A. 1, 8

B. 1, -8

C. 

D. 

k, − 6, − 2 k − 1, k, 4

−1, 8

−1, − 8

https://dl.doubtnut.com/l/_wWZn72zwqB96
https://dl.doubtnut.com/l/_4oDmkSLfDbKh


Answer: C

Watch Video Solution

114. If the cosine of the angle between the lines with

direction ratios 1, -1, 2 and 0, 1, k is , then k =

A. 

B. 

C. 

D. 1, 7

Answer: A

Watch Video Solution

√3

2

−1, − 7

1, − 7

−1, 7

https://dl.doubtnut.com/l/_4oDmkSLfDbKh
https://dl.doubtnut.com/l/_v6koIyUTLsZx


115. The acute angle between the lines joining points (2, 1,

3) and (1, -1, 2) and the line having direction ratios 2, 1, -1 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

30∘

45∘

60∘

120∘

116. If  and 

, then the angle between  and  is

A ≡ (3, 4 − 2), B ≡ (1, − 1, 2), C ≡ (0, 3, 2)

D ≡ (3, 5, 6) ¯̄̄ ¯̄¯AB ¯̄¯̄¯̄CD

https://dl.doubtnut.com/l/_YE2U6VbkByZq
https://dl.doubtnut.com/l/_NGpM3vqulAUM


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

45∘

90∘

30∘

60∘

117. The acute angle between the vectors  and ,

where 

is

A. 

¯̄̄ ¯̄¯AB ¯̄¯̄¯̄CD

A ≡ (1, 2 − 1), B ≡ (2, 1, 1), C ≡ (2, 1, − 2), D ≡ (3, 2, 1)

cos − 1√
6

11

https://dl.doubtnut.com/l/_NGpM3vqulAUM
https://dl.doubtnut.com/l/_lhyCsUL16M3c


B. 

C. 

D. 

Answer: A

Watch Video Solution

cos − 1√
3

11

cos − 1( )
6

√11

cos − 1( )
3

√11

118. If  is right angled at B , where A(5,6,4), B(4,4,1)

and C(8,2,x) , then find the value of x.

A. 0

B. -1

C. 1

△ ABC

https://dl.doubtnut.com/l/_lhyCsUL16M3c
https://dl.doubtnut.com/l/_GZCRcUX9gUaD


D. 3

Answer: C

Watch Video Solution

119. If  is right angled at A, where 

 and , then x =

A. -4

B. -2

C. 2

D. 4

Answer: C

ΔABC

A ≡ (4, 2, 3), B ≡ (3, 1, 8) C ≡ (x, − 1, 2)

https://dl.doubtnut.com/l/_GZCRcUX9gUaD
https://dl.doubtnut.com/l/_43NeAcCAgumA


Watch Video Solution

120. If , if  and

, then 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ΔABC A ≡ (3, 2, 6), B ≡ (1, 4, 5)

C ≡ (3, 5, 3) m∠ABC =

90∘

60∘

45∘

30∘

https://dl.doubtnut.com/l/_43NeAcCAgumA
https://dl.doubtnut.com/l/_STjxWAvyk4vM


121. If A (0, 7, 10), B(-1, 6, 6) and C(-4, 9, 6) are the vertices of

, then  is right angled at vertex

A. A

B. B

C. C

D. either A or C

Answer: B

Watch Video Solution

ΔABC ΔABC

122. If  are three mutually perpendicular vectors of

equal magnitude, then the angle made by  with

ā, b̄, c̄

ā + b̄ + c̄

https://dl.doubtnut.com/l/_asgJRWWZNt9u
https://dl.doubtnut.com/l/_7hvQIhmZFlBY


each of  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ā, b̄, c̄

cos − 1( )
1

3

cos − 1( )
2

3

cos − 1( )
1

√3

cos − 1( )
2

√3

123. The angle between
 the lines whose direction cosines

satisfy the equations 
and 
 is

(1) 
(2) 
(3) 
(4) 

l + m + n = 0 l2 = m2 + n2

π

3

π

4

π

6

π

2

https://dl.doubtnut.com/l/_7hvQIhmZFlBY
https://dl.doubtnut.com/l/_pkcZVGwyfLej


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

π

3

π

4

π

6

π

2

124. Find the direction cosines of the two lines which
 are

connected by th relations.

A. 1, 2, 3 and 1, 1, 2

B. 1, 2, 3 and -1, 1, 2

l − 5m + 3n = 0and7l2 + 5m2 − 3n2 = 0

https://dl.doubtnut.com/l/_pkcZVGwyfLej
https://dl.doubtnut.com/l/_SjM8zVFqxvhT


C. 1, 2, 3 and 1, -1, 2

D. 1, 2, 3 and 1, 1, -2

Answer: B

Watch Video Solution

125. Find the acute angle between the two straight lines

whose direction cosines are given by  and 

A. 

B. 

C. 

D. 

l + m + n = 0

l2 + m2 − n2 = 0

π

6

π

4

π

3

π

2

https://dl.doubtnut.com/l/_SjM8zVFqxvhT
https://dl.doubtnut.com/l/_wTixoQlIfIRe


Answer: C

Watch Video Solution

126. The direction cosines l, m and n of two lines are

connected by the relations ,

then the angle between the lines is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

l + m + n = 0 and lm = 0

0∘

45∘

60∘

90∘

https://dl.doubtnut.com/l/_wTixoQlIfIRe
https://dl.doubtnut.com/l/_AU3JgVxKzH9A


127. If the direction ratio of two lines are given by

, then the

angle between the lines, is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

3lm − 4 ln + mn = 0 and l + 2m + 3n = 0

0∘

45∘

60∘

90∘

https://dl.doubtnut.com/l/_AU3JgVxKzH9A
https://dl.doubtnut.com/l/_DCr3W0koufxw


128. The angle between the lines whose direction cosines ,

m, n satisfy the equations  and 

 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

l

5l + m + 3n = 0

5mn − 2nl + 6lm = 0

cos − 1( )
1

√6

cos − 1( )
1

√3

cos − 1( )
1

6

cos − 1( )
1

3

https://dl.doubtnut.com/l/_V0ZPj7ybuhyR


129. Find the angle between the lines whose direction

cosines are given by the equations  and 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3l + m + 5n = 0

6mn − 2nl + 5lm = 0

cos − 1( )
−1

6

cos − 1( )
1

2

cos − 1( )
−1

3

cos − 1( )
1

3

https://dl.doubtnut.com/l/_sBDcCnflHtAp


130. Direction ratios of two lines satisfy the relations

 and . Then the angle

between two lines is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2a − b + 2c = 0 ab + bc + ca = 0

60∘

30∘

90∘

145∘

https://dl.doubtnut.com/l/_FbgJgMpa6Cnd


131. IF the direction ratios of two vectors are connected by

the relations  and  Find

the angle between them.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

p + q + r = 0 p2 + q2 − r2 = 0.

90∘

60∘

45∘

30∘

https://dl.doubtnut.com/l/_LfRx5fnqar91


132. The angle between diagonal of a cube and diagonal 

of a face of the cube will be

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

cos − 1( )
2

3

cos − 1( )
1

3

cos − 1 √
2

3

cos − 1 √
1

3

133. Let  and  are direction

cosine of three mutually perpendicular line OA, OB and OC.

l1, m1, n1, l2, m2, n2 l3, m3, n3

https://dl.doubtnut.com/l/_YZEjTNiUiF9r
https://dl.doubtnut.com/l/_dSXnxC5NWqds


If the direction cosines of OP are proportional to

 and angle

made by OP with lines OA, OB, OC are respectively 

, then

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

l1 + l2 + l3, m1 + m2 + m3, n1 + n2 + n3

θ1, θ2, θ3

θ1 < θ2 < θ3

θ1 = θ2 = θ3

θ1 > θ2 > θ3

θ1 = θ2 + θ3

https://dl.doubtnut.com/l/_dSXnxC5NWqds


134. The direction cosines of a line equally inclined to three

mutually perpendiclar lines having direction cosines as

 and  are

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

l1, m1, n1, l2, m2, n2 l3, m3, n3

l1 + l2 + l3, m1 + m2 + m3, n1 + n2 + n3

, ,
l1 + l2 + l3

√3

m1 + m2 + m3

√3

n1 + n2 + n3

√3

, ,
l1 + l2 + l3

3

m1 + m2 + m3

3

n1 + n2 + n3

3

, ,
l1 + l2 + l3

3

m1 + m2 + m3

−3

n1 + n2 + n3

3

https://dl.doubtnut.com/l/_lXsNdgc4pYMq


135. Find the direction cosines of the two lines which
 are

connected by th relations.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

l − 5m + 3n = 0and7l2 + 5m2 − 3n2 = 0

± , ± , ±
−1

√6

1

√6

2

√6

± , ± , ±
1

√6

1

√6

−2

√6

± , ± , ±
2

√6

2

√6

−1

√6

± , ± , ±
2

√6

2

√6

1

√6

https://dl.doubtnut.com/l/_cm7arG83rmP7


136. If  and  are the direction cosines of

two lines and , m, n are the direction cosines of a line

perpendicular to the given two lines, then

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

l1, m1, n1 l2, m2, n2

l

= =
l

∣
∣
∣

m1 n1

m2 m2

∣
∣
∣

−m

∣
∣
∣

l1 n1

l2 n2

∣
∣
∣

n

∣
∣
∣

l1 n1

l2 n2

∣
∣
∣

= =
l

∣
∣
∣

m1 n1

m2 m2

∣
∣
∣

−m

∣
∣
∣

l1 n1

l2 n2

∣
∣
∣

−n

∣
∣
∣

l1 n1

l2 n2

∣
∣
∣

= =
− l

∣
∣
∣

m1 n1

m2 m2

∣
∣
∣

−m

∣
∣
∣

l1 n1

l2 n2

∣
∣
∣

n

∣
∣
∣

l1 n1

l2 n2

∣
∣
∣

= =
l

∣
∣
∣

m1 n1

m2 m2

∣
∣
∣

m

∣
∣
∣

l1 n1

l2 n2

∣
∣
∣

n

∣
∣
∣

l1 n1

l2 n2

∣
∣
∣

https://dl.doubtnut.com/l/_vWsPiEaqwBhG
https://dl.doubtnut.com/l/_ksHUMj5RksaP


137. The direction ratios of vector perpendicular to the two

lines whose direction ratios are -2, 1, -1 and -3, -4 , 1 are

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

−3, 5, 11

3, − 5, 11

3, 5, 11

3, 5, − 11

138. The direction ratios of a vector perpendicular to the

two lines whose direction ratios are 1, 3, 2 and -1, 1, 2 are

https://dl.doubtnut.com/l/_ksHUMj5RksaP
https://dl.doubtnut.com/l/_AtGKZoGWU1qO


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

−1, 1, 1

1, 1, − 1

1, − 1, 1

1, 1, 1

139. Find the direction cosines of the line which is

perpendicular to the lines with direction ratios

.

A. 

B. 

4, 1, 3 and 2, − 3, 1

± , ± , ±
5

5√3

1

5√3

7

5√3

± , ± , ±
1

√3

1

5√3

−7

5√3

https://dl.doubtnut.com/l/_AtGKZoGWU1qO
https://dl.doubtnut.com/l/_FEIV098ZtO5a


C. 

D. 

Answer: B

Watch Video Solution

± , ± , ±
5

√3

1

√3

7

√3

± , ± , ±
5

√3

1

√3

−7

√3

140. Direction ratios of the line which is perpendicular to

the lines with direction ratios (-1,2,2) and (0,2,1) are

A. 1, 1, 2

B. 2, -1, 2

C. 

D. 2, 1, -2

−2, 1, 2

https://dl.doubtnut.com/l/_FEIV098ZtO5a
https://dl.doubtnut.com/l/_8R8RFgWPsLcn


Answer: B

Watch Video Solution

141. The direction cosines of the line which is perpendicular

to the lines with direction ratios -1, 2, 2 and 0, 2, 1 are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

, ,
2

9

−1

9

−2

9

, ,
2

3

−1

3

−2

3

, ,
2

9

−1

9

2

9

, ,
2

3

−1

3

2

3

https://dl.doubtnut.com/l/_8R8RFgWPsLcn
https://dl.doubtnut.com/l/_mOiWsmuKRgTm


142. The direction ratios of a line which is perpendicular to

the two lines whose direction ratios are 3, -2, 4 and 1, 3, -2

is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

−8, 10, 11

8, − 10, 11

8, 10, − 11

8, 10, 11

https://dl.doubtnut.com/l/_cK6MeOIqPg4G


143. The direction ratios of a line which is perpendicular to

the two lines whose direction ratios are 3, -2, 1 and 2, 4, -2

is

A. 0, 2, 1

B. 0, -1, 2

C. 0, 1, 2

D. 0, 1, -2

Answer: C

Watch Video Solution

144. Points (-2, 4, 7), (3, -6 -8) and (1, -2, -2) are

https://dl.doubtnut.com/l/_sjGsZE3JmDDU
https://dl.doubtnut.com/l/_6Vd4Snkp655V


A. collinear

B. vertices of an equilateral triangle

C. vertices of an isosceles triangle

D. vertices of a scalene triangle

Answer: A

Watch Video Solution

145. If the points (-1, 3, 3), (-2, 0, 1), (-4, -6, -3) and (2, 12, 9) are

A. vertices of square

B. vertices of rhombus

C. vertices of rectangle

https://dl.doubtnut.com/l/_6Vd4Snkp655V
https://dl.doubtnut.com/l/_Oire70AHa4Z4


D. collinear

Answer: D

Watch Video Solution

146. prove that point `A(5, -1, 1), B(7, -4, 7), C(1, -6, 10) and

D(-1, -3, 4) are vertices of a rhombus

A. square

B. rhombus

C. rectangle

D. parallelogram

Answer: B

https://dl.doubtnut.com/l/_Oire70AHa4Z4
https://dl.doubtnut.com/l/_aKKsIvkfYS8E


Watch Video Solution

147. The points (5, -4, 2), (4, -3, 1), (7, -6, 4) and (8, -7, 5) are

the vertices of a

A. square

B. rectangle

C. rhombus

D. parallelogram

Answer: D

View Text Solution

https://dl.doubtnut.com/l/_aKKsIvkfYS8E
https://dl.doubtnut.com/l/_GPy8EeDCI7Pl


148. The points (5, 0, 2), (2, -6, 0), (4, -9, 6) and (7, -3, 8) are

the vertices of a

A. square

B. rectangle

C. rhombus

D. parallelogram

Answer: A

View Text Solution

149. The points (0, 7, 10), (-1, 6, 6), (-4, 9, 6) form

A. an isosceles triangle

https://dl.doubtnut.com/l/_HF5USsClVIzw
https://dl.doubtnut.com/l/_hlle2DJR9fpw


B. an equilateral triangle

C. a right angled triangle

D. a right angled isoceles triangle

Answer: D

Watch Video Solution

150. If the points A(4, 7, 6), B(2, 3, 2), C(-1, -2, -1) and D form a

parallelogram, then 

A. (3, 2, 1)

B. (1, 2, 3)

C. (3, 1 , 2)

D ≡

https://dl.doubtnut.com/l/_hlle2DJR9fpw
https://dl.doubtnut.com/l/_xf4BSnNdpXwf


D. (2, 3, 1)

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_xf4BSnNdpXwf

